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(—) The IQs of nine randomly selected persons are recorded. Let Y denote their
average. Asstuming the distribution from which the ¥,’s were drawn is
normal with a mean of 100 and a standard deviation of 16, what is the
probability that ¥ will exceed 103? What is the probability that any arbitrary
¥, . will exceed 1037 What is the probability that exactly three of the ¥,’s
will exceed 1037 |

(Z) Let X be a continuous random variable with density function

fix) = 5x*64, —2<x<2.Let U=x".Find the density function of U.

() Let X be a continuous random variable with density function f{x} = e, x>0

Find the mean, variance, and standard deviation of X.

("9) Let X, ..., X, beindependent, »>2,and X;~N(u,0 z ), where gand © :
are the unknown parameter. Find the maximum likelihood estimator for o

and o2

(7)) Suppose the weight X, height X;, and age X;, of a randomly chosen male
have a multivariate normal distribution with means 170, 68, and 40 and
variances 400, 16, and 256, and with cov(X;, X3) = 64, cov(X), X3) = 128,

and cov{Xs, X3) = 0. Thatis, X = (X}, X3, X3)" ~ Ns( &£, %), where

170 400 64 128
= | 68 and ¥ = |64 16 O
40 128 0 256

Find f(x,x,).
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o.ﬂ S000 5040 s080 sizg S160 " 5199
0.1 | 5398 5438 5473 3517 5557 5508
0.2 | 5793  sg32 3871 5810 5048 5987
0.3 1 6179 6217, 6255 _g203 6331 6368
0.4 | 6554 6501 6628 6664 6700 6736
0.5 | 6915 6050 6985 019 7054 7088
0.6 [ 7257 7201 7334 7357 7389 a3
0.7 | 7580 7611 7642 7673 T4 7734
0.8 [ 7881 7910 7939 967 7995 3023
0.9 | 8159 8186 8212 8238 8264 8289
LO [ 8413 8438 846 8485 8508 8531
L1 | 8643 8665 _g68s -8708 8729 g9
1.2 | 8849  8R69 .gssg 8907 8925  gogq
L3 1 .9032 9049 o066 9082 9099 9115
L4 { 9192 9207 9322 9236 9251 49265
L5 | 9332 9345 o357 9310 9382 9304
1.6 1 .9452 0463 9474 9434 9495 o95p5
1.7 | 9554 9564 o573 9582 9591 9599
LB | 9641 9649 0656 ogea 9671 9678
19 1 9713 9719 o1 9732 9738 9744
2.0 { 9772 9778 9783 9788 9793 .g70g
20§ 9821 9826 9830 9834 9838 9842
2.2 | 9361 9864 ogeg 9871 9875  .9g78
2.3 | 9893 9896 .ogog 9901 9904 99ps
2.4 ] 9918 9920 9932 925 9927 - 9929
2.5 1 9938 9940 .94 9943 9945 - gog4
2.6 | 9953 0955 g9gsg 9957 9959 000
27 | 99655 9966 .gog7 9968 9969 9979
2.8 | 9974 9975 9975 977 9977 g97g
29 [ 9981 0982  gogn 9983 9984  .o9g4
3.0 | 9987 0087 9ogy 9988 9983 9989
3.0 1 .9990 9991 gogg 9991 9992 gggp
3.2 1 9993 9993 994 -99%4 9994 9994

06 .07
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5636 5675.
6026 6064

6406 6443
6772 6808
23 7157
7454 7486
Jied 1194
8051 3078
8315 8340
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8770 8790
8962 8980
S131 9147
9279 992
Hd06 9418
9515 9525
2608 9616
9686  .9593
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9803 9808
9846 6850
0881 9884
5909 991
9931 9937
9948 9949
9961 9952
8971 9972
8979 9979
5985 9985
9989 9989
9592 9992
9994 9995
999 9996
9937 9907
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5319
15714
.6103
5480
6844
7150
517
7823
8106
8385
8599
8810
-B997
9162
9306
2429
9535
9625
9699
9761
9812
9854
.5887
9913
8934
9951
9963
9973
.9980
.9986
-9950
9993
9995
8996
.9997

3.3 ) 9995 . 9995 9995 9996 9956 .9996.
341 9997 ug97 9997 9997 9997 .9997

. Appendix Tables 72
TABLE 1. Cumulative Normal Distribution; Table Entry Is Prob(z < 2) ;
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7549
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-8133
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8621
-8830
9015
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9936
.8952
9964
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.9950
9983
.8995
9997
9998
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1. 2ESEEHE (Total Quality Management)

2. BIFEE (Venture Capital)

3. |EEEEE (Emotional Quotient)

4, BIZENEIH (Entrepreneurship)

5. FEFFETS (Electronic Business)

6. IS (Business Process Reengineering)
7. KlaEEFT (Core Competence) -

§. EZERIMEE (Learning Organization)

9. BEEE (Vision)

10. 5EREAY4EME (Matrix Organization)
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4. Frances Hesselbein J& Peter Drucker Foundation for Nonprofit Management ]
B HETE 1976-1990 HARSHE Girl Scouts of the USA By CEO, HEAEH,
{F A58 -1 National Women’s Economic Alliance FiEIRY L BEFRE
I4ES o fihE“The “How to be’ Leader”—3 HEE5HE *

e The three major challenges CEOs will face have little to do with managing

the enterprise’s tangible assets and everything to do with monitoring the quality

of: leadership, the workforce, and the relationships....... In the tenuous years that
lie ahead, the familiar benchmarks, guideposts, and milestones will change as
rapidly and explosively as the times, but the one constant at the center of the
vortex will be the leader. The leader beyond the millennium will not be the leader
who has learned the lessons of how te do it ...... The leader for today and the
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future will be focused on how to be-—-how to develop quality, character, mind-set,
values, principles, and courage. ...... The ‘how to be’ leader knows that people
are the organization’s greatest asset and in word, behavioi', and relationship she or
he demonstrates this powerful philosophy. ...... The ‘how to be’ Jeader builds a
.workforce, board, and staff that reflect the many faces of the community and
environment, so that customers and constituents find themselves when they view
this richly diverse organization of the future. The ‘how to be’ leader holds forth
the vision of the organization’s future in compelling ways that ignite the spark
needed to build the inclusive enterprise. The leader mobilizes people around the
mission of the organization, making it a powerful force in the uncertain times
ahead. Coordination around the mission generates a force that transforms the
workforce into one in which workers and teams can express themselves in their
work and find significance beyond the task, as they manage for the mission.
Through a consistent focus on mission, the ‘how to be’ leader gives the dispersed
and diverse leaders of the enterprise a clear sense of direction and the opportunity
to find meaning in their work. The ‘how to be’ leader knows that listening to
the customer and learning what he or she values will be a critical component,
even more so in the future than today. Global and local competition will only
accelerate, and the need to focus on what the customer values will grow

stronger. ...... Key to the societal significance of tomorrow’s leaders is the wa};r
they embrace the totality of leadership, not just including my organization but
reaching beyond the walls as well. The *how to be’ leader, whether she or he is
working in the private, public, or social sector, recognizes the significance of the
lives of the men and women who make up the enterprise, the value of a
workplace that nurtures the people whose performance is essential to furthering
the mission, and the necessfty of a healthy community to the success of an
organization. The wise leader embraces all those concerned in a circle that
surrounds the corporation, the organization, the people, the leadership, and the
community, ...... Today’s concerns about a lack of workérs’ loyalty to the
corporation and a corresponding lack of corporations’ loyalty to the workforce
arc sending a clear message to the leaders of tomorrow. ... In the end, as
organizations reduce their workforces, will it be the leader of a dispirited,
demoralized workforce who leads the pack or will it be the new leader, guiding
from vision, principle, and values, who builds trust and releases the energy and
creativity of the workforce? ”

AT LERE— AR - EE T IHEEEE -




B d WAZFA+LFEFAT L RBALZRRA
F B bEeE [Asfatn] 2BEE | 23 sy By
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4. {E#38 Today’s concerns about a lack of workers’ loyalty to-the corporation
and a corresponding lack of corporations’ loyalty to the workforce are
sending a clear message to the leaders of tomorrow. FHERGE(S clear
message {17 7
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